APOWER

ASG617LE

CHEroysoPLUMUK
BEH3UMHOBbLIU

APT. 41203

Cnucok 3anyacrteun

B3pbiB-cxema

Ten: +7-495-181-6269
Email: info@a-ipower.ru

Designed & Refined in USA / Custom Manufactured in China
A-iPower, Fontana, CA 92337 USA



CHEIMOYBOPLUUK BEH3UHOBbLIA A-IPOWER AS617LE APT. 41203

APOWER

B3prB-CxeMbl M CMUCKK 3an4vacTeun CHGFOYGLI.IMKa

Ne (Koa petanu OnucaHnue Kon Ne (Koa petanu OnucaHue Kon
1 1361250001 Bont M6x20 6 10 1360720076 MoawwmnHuk 16001-2Z 1
2 1361250002 Bont M6x25 1 11 12109000003-0001 |3y6uaToe koneco 1
3 |3402500001-0001 |LLianba npyxuHHas 10x15x0,3 1 12 |2126600001-0001 |Kpbiwka pegykTopa nesas 1
4 1361040002 Bont M10x10 1 13 |3408800011-0001 |CanbHuk 19x30x7 2
5 13408800010-0001 |CanbHuk 20x32x5 1 14 1360790001 LUnoHka 5x7,5x19 1
6 [360760002 MoawwmnHuk 51104 1 15 12109100003-0001 |Ban 1
7 |3417000007-0001 |LLlaiba nnockas 20x27x1 1 16 |2126700001-0001 |Kpbiwka pegykTopa npasas 1
8 1360720077 MoawwunHuk 61904-2Z 1 17 1360410020 Bont M5x8 1
9 |2108900003-0001 |Yepssik 1

Ne (Koa petanu OnucaHue Kon Ne (Koa metanu OnucaHue Kon
1 12105100001-0001 |Kpbiwka Bana 2 7 |2705800001-0001 |LLHek npaBbIi 2
2 12146100001-0001 |BTynka Bana 2 8 [3403100001-0001 |BonT cpesHoi 6,1x38 4
3 12146300002-0001 |Brtynka chukcupytowlas 4 9 |3402200001-0001 |WnnunHT 1,8 4
4 12146200001-0001 |BTynka aucTaHLUMoHHas 8 10 |3402400001-0001 |LLlaiba nnockas 19,5x34x1,5 4
5 1360580004 LUtudpT 6x35 2 11 |2705700001-0001 |LLHek neBbIn 2
6 |2705900001-0001 |Mmnennep 1

V1:20829




CHEIMOYBOPLUUK BEH3UHOBbLIA A-IPOWER AS617LE APT. 41203

APOWER

B3prB-CxeMbl MU CMUCKMN 3an4acTten CHGFOYGLI.IMKa

14 15 16 17

Ne |Kop petanu Onucanue Kon Ne |Kop petanm Onucanne Kon
1 1360120012 laitka M8 13 17 |2127400001-0001 |HaTtshxmTens pemHs 1
2 |360640006 Lllanba nnockas 8 10 18 |3402000001-0001 |Btynka Hatsxutens 8,5x18x6 1
3 |2706200001-0001 |BokoBas canaska 2 19 |3402700001-0001 |Bont M10x14 1
4 1360220093 Bont M8x12 6 20 360250025 Bont M8x20 1
5 12601300008-0001 |KoBLu 1 21 (360620011 Lllanba npyxuHHas 8 1
6 |360120007 laitka M10 1 22 (360590003 Lai6a nnockas 8 1
7 1360450026 BuHT ST4,2x12 2 23 [2152600001-0001 |LLkvie npuBoaHoOM 1
8 12400900001-0001 |Konnauok 2 24 12126500001-0001 |PemeHb 4XLA822 1
9 |2402900001-0001 |KpenneHve nonatku 1 25 360980018 LUnoHka 6x18 1
10 |2403000001-0001 |NMonatka anst y6opku cHera 1 26 [3420200004-0001 |MpyxuHa 1
11 1360780002 MoawwmnHuk UC204 1 27 1360030002 ["aiika M8 1
12 |2105200001-0001 |BTynka noaLumnHuka 1 28 [2152700001-0001 |Yronok 1
13 1360660021 Llan6a nnockas 8 4 29 [2706100002-0002 |Ckpebok 1
14 |3403000004-0001 |BonT M8x35 1 30 |3403000001-0001 |BonT M8x16 4
15 |2104700001-0001 |KpOHLUTEAH HATSXUTENS PEMHS 1 31 [3403000003-0001 |Bont M8x25 2
16 |3402000003-0001 |Btynka Hatsxutens 8,5x18x12,2 1 32 13403000002-0001 |BonTt M8x20 2

V1:20829




CHEIMOYBOPLUUK BEH3UHOBbLIA A-IPOWER AS617LE APT. 41203

APOWER

B3prB-CXGMbI MU CMUCKMN 3an4acTten CHGFOYGLI.IMKa

Ne (Koa petanu OnucaHue Kon
1 12152500001-0001 |Begomblit Wwkve 1
2 1360250008 Bont M6x12 4
3 |360620025 LLaiba npyxuHHas 6 4
4 12105300001-0001 |BTynka nogwmnHuka 2
5 1360960004 MoawwmnHuk 3202-2RS 1
6 |2105400001-0001 |KpoHLuTemnH 1
7 1360640006 LLlaiba nnockas 8 1
8 1360220093 Bont M8x12 1
4 5 6 7 8 2 10 11 12 13 14 15 16
1
1
25 2_4/& 23 22 \21\20 \14
Ne (Koa petanu OnucaHue Kon Ne (Koa metanu OnucaHue Kon
1 |3402400002-0001 |LLlan6a nnockas 13,5x25x2,5 1 15 360640005 LLlai6a nnockas 8 1
2 13410800087-0001 |Btynka 13,2x19x16,5 1 16 1360220039 Bont M8x16 1
3 |360560015 LWtndt 2,5%30 1 17 |2126400001-0001 |BTynka 2
4 1360120013 laitka M10 1 18 |2126200001-0001 |Ocb npuBoaa 1
5 1360660013 Lllai6a nnockas 10 1 19 1360790004 LLInoxka 5x7,5x19 1
6 |2126500003-0001 |PemeHb 3LXA809 1 20 (361260002 Bont M6x30 2
7 1360120005 laitka M6 1 21 [2132800001-0001 |MpyxuHa 1
8 1360720111 MoawwnHuk 6203-2RS-NR 2 22 |2124400005-0001 |Kpbiwka HKHAS 1
9 360720096 MoawwmnHuk 626-22 1 23 12104900001-0001 |Bbrok kpenneHus LUTOKa 1
10 |2101900009-0001 |MepekntoyaTens 1 24 |3403300001-0001 |BuHT M6x12 8
11 2132600001-0001 |MpyxmHa 1 25 |360300005 bont M6x12 2
12 |2124500004-0001 |Kopnyc TpaHcMUcCum 1 26 [2118700001-0001 |3ybuatoe koneco 1
13 |2108800001-0001 |Ban ¢hpukumoHa 1 27 |2425700002-0001 |OrpaHnynTensHas nnactuHa 1
14 360580021 LLtndpT 6x28 2 28 (360580021 CronopHoe konbuo 19 1

V1:20829




CHEIMOYBOPLUUK BEH3UHOBbLIA A-IPOWER AS617LE APT. 41203

APOWER

B3prB-CxeMbl MU CMUCKMN 3an4acTten CHGFOYGLI.IMKa

Ne (Koa petanu OnucaHue Kon
1 1360120005 laitka M6 3
2 1360660004 LLlai6a nnockas 6 3
3 |2154400004-0001 |Komeco hpuKLMOHHOE 1
4 12127500004-0001 [BTynka puKLMOHHOrO Koneca 1
5 1360250107 Bont M6x40 3
ﬁ r
]
Ne (Koa petanu OnucaHue Kon Ne (Koa petanu OnucaHue Kon
1 360560006 LUtudpt 2x25 2 9 |360010006 laitka M8 (neBast pe3sbba) 1
2 |360660010 Llan6a nnockas 8 6 10 |3005500003-0001 |Peiyar nepeaay HUXHMIA 1
3 |3406500001-0001 |MpyxmHa 1 11 360580009 LWrncht 6x22 1
4 13005400004-0001 |Pbiuar nepenay BEpXHUN 1 12 |2401000003-0001 |Pblyar nepekntoyeHus nepegay 1
5 |3001800001-0001 |Tpoc MydhTbl cLienneHns 1 13 |3402400002-0001 |LLian6a nnockas 13,5x25x2,5 1
6 |3001700001-0001 |Tpoc npuBoga WHeka 1 14 360250028 Bont M8x25 4
7 1360010003 laitka M8 1 15 |360620008 Laiba npyxuHHas 8 4
8 |3005800001-0001 |BTynka pesbboBas 1

V1:20829




CHEIMOYBOPLUUK BEH3UHOBbLIA A-IPOWER AS617LE APT. 41203

APOWER

B3prB-CxeMbl MU CMUCKMN 3an4acTten CHGFOYGLI.IMKa

Ne (Koa petanu OnucaHnue Kon Ne (Koa petanu OnucaHue Kon
1 1360250018 Bont M6x16 6 6 [3013100001-0001 |BonT M6x10 3
2 1360120011 laitka M6 3 7 1360620025 LUait6a npyxu1HHas 6 6
3 |3007900001-0001 |KpoHLuTeitH Tpoca 1 8 1360660019 Llanba nnockas 6 7
4 13007700001-0001 |KpoHLuTenH Tpoca 1 9 13007800001-0001 |KpoHLuTeltH Tpoca 1
5 |3006000001-0001 |LLkus 3
<t
T i
{"‘-‘.
- \-H\‘_‘
% a 16 14 13 12

Ne (Koa petanu OnucaHue Kon Ne (Koa metanu OnucaHue Kon
1 1360120009 ["aitka M8 1 13 1360300005 Bont M6x12 1
2 1360660010 LLlai6a nnockas 8 4 14 1360010003 laiika M8 1
3 |3402000001-0001 |Brtynka Hatspkutens 8,5x18x6 1 15 1360220038 Bont M8x12 1
4 12127400001-0001 |HaTspkutens pemHsi 1 16 |3420300005-0001 |MpyxuHa 1
5 1360220040 Bont M8x20 1 17 1360220041 Bont M8x25 2
6 |3402000003-0001 |Brtynka Hatspkutens 8,5x18x12,2 1 18 |2446100001-0002 |Pbiyar HaTsxuTens 1
7 |3402100001-0001 |BTynka KpoHWTEHa 1 19 |360220039 Bont M8x16 1
8 12105000001-0001 |KpoHLUTEIH HaTsXXMTENS 1 20 |3417000001-0001 |BTynka amcTaHUmMoHHas 1
9 |3403000004-0001 |Bont M8x35 1 21 12152300001-0001 |LUkue 1
10 |2152200001-0001 |LLkuB 1 22 (360980073 LLinoHka 4,78x70 1
11 |T011270007 [uratens B cbope 1 23 (360590002 Lai6a nnockas 8 1
12 |2449600001-0001 |3awmra oT cHera 1

5 V1:20829




CHEIMOYBOPLUUK BEH3UHOBbLIA A-IPOWER AS617LE APT. 41203

APOWER

B3prB-CxeMbl M CMUCKK 3an4vacTeun CHGFOYGLI.IMKB

Ne |Kog petanu OnucaHue Kon
1 |2802300076-0001 |Koneco npasoe 1
2 |2808000001-0001 |Ltucpt 6x45 2
3 360300005 Bont M6x12 2
4 |2601500046-0001 |3aLyuTHbIN KOXYX 1
5 1360120009 laiika M8 10
6 |360660010 Llarnba nnockas 8 10
7 13402400001-0001 |lWaiba nnockas 19,5x34x1,5 2
8 12802300075-0001 |Koneco nesoe 1
Ne (Koa petanu OnucaHue Kon Ne (Koa metanu OnucaHue Kon
1 |3402200005-0001 |CTonopHoe KonbLo 1 7 360300005 bont M6x12 1
2 1360660013 LLlanba nnockas 10 2 8 1360640008 LLlainba nnockas 6 1
3 |2403500001-0001 |Yronok 1 9 |3006100001-0001 [Pyuka 1
4 |2416200001-0001 |Btynka 1 10 |360660010 LUait6a nnockas 8 2
5 |3403000002-0001 |Bont M8x20 2 11 1360120009 laitka M3 2
6 |3006400001-0001 |Pbivar nosopoTa xenoba 1

V1:20829




CHEIMOYBOPLUUK BEH3UHOBbLIA A-IPOWER AS617LE APT. 41203

APOWER

B3prB-CxeMbl MU CMUCKMN 3an4acTten CHGFOYGLI.IMKa

Ne (Koa petanu OnucaHue Kon Ne (Koa petanu OnucaHue Kon
1 |3018000001-0001 |Pyuka cuenneHus 2 13 |2453300006-0001 |lMepeknaguHa 1
2 |2433700007-0001 |Pyuyka pesvHoBas 2 14 360450036 BuHT ST4,2x13 3
3 1360390011 Bont M8x45 2 15 |3403100001-0001 |BonT cpesHom 6,1x38 2
4 13007600001-0001 |Haknagka py4ku cLennermus 2 16 |3402200001-0001 |LWnamnHT 1,8 2
5 1360300055 Bont M6x35 4 17 |3017400005-0001 |3arnyLka 2
6 |360120005 laitka M6 6 18 |360120009 laitka M8 2
7 |2452300010-0001 |PykosTka npasas 1 19 |360390006 Bont M6x35 2
8 |3402800001-0001 |BonT M8x50 3 20 [2452400081-0001 |PykosTka neBas 1
9 |3417100002-0001 |LLiaiba papnycHas 8 5 21 |2403300001-0001 |Btynka kpenexHas 1
10 |3008000001-0001 |Taika-6apaiuek 4 22 |3005900001-0001 |CTepxeHb kopoMbicra 1
11 |2452500001-0001 |PykosiTka HUKHSIS 1 23 (360010003 laitka M8 1
12 |2607500019-0001 |®apa 2 24 |2610500004-0001 |MnacTukoBast naHemnb 1

V1:20829




CHEIMOYBOPLUUK BEH3UHOBbLIA A-IPOWER AS617LE APT. 41203

APOWER

B3prB-CxeMbl M CMUCKK 3an4vacTeun CHGFOYGLI.IMKB

Ne |Kop petanu Onucanue Kon Ne |Kop petanu Onucanue Kon
1 3014100001-0001 |Pyuka peauHoBas 1 9 |2400900001-0001 |Kornnauok 6
2 13013200002-0001 |Pbiuar nepekntovatens nepegay 1 10 1360450034 BuHT ST4,2x16 6
3 |2457900001-0001 |MaHenb nepeknioyatens 1 11 |2458300001-0001 |KpoHLuTElH NpaBbIit 1
4 1360300005 Bont M6x12 4 12 1360120013 laitka M10 1
5 |2458200001-0001 |KpoHLTEIH NneBblit 1 13 360660010 LUait6a nnockas 8 1
6 |360260021 Bont M10x50 1 14 |3010500001-0001 | Tpoc 1
7 13410800088-0001 |Brynka 11x20x5 1 15 |3404800011-0001 |MpyxmHa 1
8 |360560006 LWndpt 2x25 1

V1:20829




CHEIMOYBOPLUUK BEH3UHOBbLIA A-IPOWER AS617LE APT. 41203

APOWER

B3prB-CxeMbl M CMUCKK 3an4vacTeun CHeroy6u.|,MKa

Ne |Kop petanm Onucanve Kon Ne |Kop petanm Onucanne Kon
1 13014100001-0001 |Pyyka pesuHoBas 1 7 |2457800001-0001 |MaHenb nepeknioyatens 1
2 13015500003-0001 |Pbiuar nepekntoyatens nepegay 1 8 12400900001-0001 |Konnavok 6
3 360300005 Bont M6x12 4 9 1360450034 BuHT ST4,2x16 6
4 12458000001-0001 |KpOHLUTEIH NEBbIN 1 10 |2458100001-0001 |KpoHLuTEitH NpaBblit 1
5 |3410800088-0001 |Brynka 11x20x5 1 11 1360120013 laitka M10 1
6 |360260021 Bont M10x50 1 12 |3404800011-0001 |MpyxmHa 1

V1:20829




CHEIMOYBOPLUUK BEH3UHOBbLIA A-IPOWER AS617LE APT. 41203

APOWER

B3prB-CXGMbI MU CMUCKMN 3an4acTten CHGFOYGLI.IMKa

Ne |Kop petanu Onucanue Kon Ne |Kop petanu Onucanue Kon
1 |2416300001-0001 |LapHup 1 10 |3402900001-0001 |BonT M6x12 2
2 12403200001-0001 |Haknagaka pesuHoBas 1 11 |2403400001-0001 |OrpaHuumutenb 3
3 |3403000003-0001 |BonT M8x25 2 12 |2415000001-0001 |3Be3pouka xenobda 1
4 |3008000001-0001 |[aika-6apaluek 2 13 360220082 BonT M6x22 6
5 1360120005 laitka M6 10 14 |2402600008-0001 |MoBOPOTHBINA €r06 1
6 1361260001 LUai6a nnockas M6x20 1 15 1360640005 LUait6a nnockas 8 2
7 |3405700001-0001 |MpyxmHa 1 16 |3405800001-0001 |MpyxmHa 1
8 |360660004 LLlai6a nnockast 6 2 17 |2402700007-0001 |decnektop 1
9 |2403600001-0001 |PeweTka ans pa3bmekm CHera 1 18 361000006 3aknenka 4x12 7

10 V1:20829




CHEIMOYBOPLUUK BEH3UHOBbLIA A-IPOWER AS617LE APT. 41203

APOWER

B3prB-CxeMbl M CMUCKN 3an4acTen aABUraTtens

Ne |Kop petanm Onucanve Kon Ne |Kop petanm Onucanune Kon
1 [1201400017-0001 |Kpbiwka ronosku 6roka uunuHapa 1 7 |3412300007-0001 |LUnunbka M6x113 (kap6) 2
2 1360300005 Bont M6x12 4 8 [1200200018-0001 |FonoBka Grnoka uunuHapa 1
3 |1202000007-0001 |Mpoknagka KpbILLKM FOMIOBKM 1 9 |1200800075-0001 |Mpoknagka ronosku 6noka 1
4 1360300130 Bont M8x60 4 10 |3411200001-0001 |LLtnchT 10x16 2
5 |2204700002-0001 |Ceeva saxuranus F7TTC 1 11 |3412400001-0001 |MnactuHa 1
6 |1909300006-0001 |LLUnunbka M8x35 (rnyww) 2 12 |1203500002-0001 | Tpybka canyHa 1
Ne (Koa petanu OnucaHue Kon Ne (Koa metanu OnucaHue Kon
1 11100300039-0001 |Kaptep gsuratens 1 9 (360290002 Bont M10x1,25x15 2
2 [1702100003-0001 |Puiuar perynstopa 060poToB 1 10 |360800047 CanbHuk 25x41x25x6 1
3 |3410000003-0001 |LLnnuHT 1 11 |3411200005-0001 |LLtnchT 8x10 2
4 |3412100024-0002 |LLai6a nnockast 6x13x1 1 12 360300205 Bont M8x32 2
5 |1701200006-0001 |LieHTpobesxHbIn perynstop 1 13 |2203800033-0001 |OnekTpoctapTep B cbope 1
6 [360720036 MoawunHuk 6205 1 14 1360660001 LLlan6a nnockas 2
7 |3412100041-0001 |lai6a nnockas 10x15x2 3 15 1360620004 Laiba npyxuHHas 2
8 |1103100004-0000 |Btynka cnusa macna 1 16 |360410014 Bont 2
11 V1:20829




CHEIMOYBOPLUUK BEH3UHOBbLIA A-IPOWER AS617LE APT. 41203

APOWER

B3prB-CXGMbI MU CMUCKN 3an4yacTen aABurartens

Ne (Koa petanu OnucaHue Kon
1 [1600600023-0001 |dednektop 1
3 2 |360300005 BonT M6x12 3
3.1 |1601100016-0001 |BokoBas KpbiLuka 1
Ne |Kop petanm Onucanve Kon
1 {1101000025-0001 |Kpbiwka kapTepa 1
2 1102200005-0002 |MacnsHas npobka B cbope 1
3 360300205 Bont M8x32 6
4 1360800047 CanbHuk 25x41x25x6 1
5 11101500009-0001 |MacnsHblii Wwyn B cBope 1
6 |360300043 Bont M6x20 1 Ne |Kop petanm Onucanue Kon
7 1360720036 MoawwmnHuk 6205 1 1 {1702000003-0001 |Pbivar ynpaBneHus CKOpOCTbI0 1
8 |1101400006-0001 |Mpoknagka kapTepa 1 2 [1701700006-0001 |Tsra perynstopa 1
9 |3411200003-0001 |LLitncpt 8x14 2 3 |1701800003-0001 |IMpyxmHa TOHKOW HACTPOMKN 1
4 11701900016-0001 |[MpyxuHa perynstopa 1
5 |1700100028-0001 |YnpaBneHue gpoccenem 1
6 |360300005 Bont M6x12 1
4
|
|
|
|
|
o f
|
|
________________________ | Ne |Kop petanm Onucanue Kon
1 |2204100063-0001 |Mogynb 3axuraHus B coope 1
2 |2204600002-0001 |Konnayok ceeun 1
Ne |Kop petanu Onucanue Kon 3 360300047 Bont M6x22 1
1 {2000100157-0001 |PyqHoit cTapTep B cbope 1 4.1 |1303000047-0001 |MaxoBuk 1
2 |1600100052-0001 |Oednekrop 1 5 |1601200005-0001 |KpbinbyaTka 1
3 1360220079 Bont M6x12 2 6 |2001900003-0002 |CrakaH 1
4 12000200022-0002 |PyyHoit cTapTep 1 7 360050006 laitka M14x1,5 2
5 |2001400004-0001 |Py4ka 1 8 |2203700019-0001 |3spsigHas kaTyLuka (onuws) 1
6 |360630007 Llar6a nnockas 6 3 9 1360220029 Bont M6x30 2
7 1360220002 Bont M6x10 3 10 |2202200001-0002 |MnactuHa 1
8 |3412300006-0001 |LLnunbka cTapTepa 2 11 1360300005 Bont M6x12 1

12

V1:20829




CHEIMOYBOPLUUK BEH3UHOBbLIA A-IPOWER AS617LE APT. 41203

APOWER

BSprB-CxeMbI MU CMUCKN 3an4yacTen aABurartens

Ne (Koa petanu OnucaHue Kon Ne (Koa petanu OnucaHue Kon
1 {1302000303-0001 |KoneHsan B cbope 1 5 |1301300004-0001 |CtonopHoe konbLo Nanbua 2
2 |3412500001-0001 |LLnoHka koneHBana 1 6 |1301200003-0001 |MopLuHeBoi nanew 1
3 |1301400004-0001 |LLiaTyH B cbope 1 7 11300500007-0001 |KomnneKT nopLUHeBbIX Konew, 1
4 |1300300007-0001 |MopLHeHb 1
Ne (Koa petanu OnucaHue Kon Ne (Koa metanu OnucaHue Kon
1 [1400100023-0001 |Pacnpeggan B cbope 1 9 |1403700001-0001 |laitka cTonopHas 2
2 |1403400004-0001 |TonkaTenb knanaHa 2 10 |1401700015-0001 |KnanaH BnyckHOM 1
3 |1401100002-0001 |LLIranra Tonkarens 2 11 |1401800016-0001 |KnanaH BbIMyckHOM 1
4 |1401500001-0001 |Hanpaenstowias Tonkatens 1 12 1200900003-0001 |CanbHuK ByCKHOrO KnanaHa 1
5 |1401900002-0001 |Kopombicrio B cBope 2 13 |1402700004-0001 |lMpyxuHa knanaHa 2
6 |1402400001-0001 |Lnunbka kopoMbicna 2 14 |1402800003-0001 |Tapenka BMyCKHOrO KrianaHa 1
7 |1402000004-0001 |Kopombicrio 2 15 |1403800001-0002 |Tapenka BbiMyCKHOrO krnanaHa 1
8 |1402500001-0001 |BTtynka kopombicna 2 16 |1403300002-0001 |Konnayok BbIMyCKHOrO KnanaHa 1
13 V1:20829




CHEIMOYBOPLUUK BEH3UHOBbLIA A-IPOWER AS617LE APT. 41203

APOWER

B3prB-CXGMbI MU CMUCKN 3an4yacTen aABurartens

Ne (Koa petanu OnucaHue Kon

1 [1800100345-0001 | TonnuBHbIit bak B cbope 1

2 |1801800001-0001 |®unbTp NepBUYHOI OYNCTKM 1

3 |1800900010-0001 |Kpblwka TonnmeHoro 6aka 1 Ne |Kop petanu Onucanue Kon
4 11802200001-0002 |YnnoTHUTENLHOE KOMbLO 1 1 {1908700004-0002 |3awwimnTHas KpbILLKa FyLWMTENs 1
5 (1801900001-0001 |TonnmBHbIN KpaH 1 2 11906300048-0002 |nywwutens B cbope 1
6 |1816300048-0001 |Tonnueonposog 1 3 [1906100003-0001 |Mpoknagka rnywmTens 1
7 1360300007 Bont M6x16 2 4 1360010003 laitka M8 2
8 12202800002-0001 |KpOHLUTEIH MOHTAXHbIN 1 6 |360300005 Bont M6x12 4
9 |3412400001-0001 |MnactHa 1

10 |360300043 Bont M6x20 3

11 |2600600001-0002 |[lexopaTvBHas KpbiLLKa 1

Ne (Koa petanu Onucanue Kon Ne (Koa pmetanu OnucaHue Kon
1 {1900100017-0001 |Mpoknagka Bo3myxo3abopHuka 1 6 [1811900001-0001 |Mpaitmep 1
2 |1900300005-0001 |Bo3ayxo3abopHuk 1 7 11901100073-0002 |Bo3gyLwHblin (ounbTp 1
3 11900200005-0001 |Mpoknaaka kapbropatopa 1 8 1360040004 laiika M6 2
4 11807900102-0001 |Kap6topaTop B cbope 1 9 |2205000006-0001 |BbikniouaTenb B coope 1
5 |1901000004-0001 |Mpoknaaka Bo3myLUHOTO UnbTpa 1 10 |1808500003-0001 |Pyyka 3acnoHku 1

14

V1:20829




APOWER



